m7EBRk 3S0BHEMER

~EIERUNE)T—a fm & (i) ~
<esmkkim 3FAE>
FRER[7]

TrA=—T4EIYF<A>

EEE 260,000 A
B8 1,530 F/B x30= 45,900 H
FA=F 4k 1,309 M/B x30= 39,270 H
ANQ2NEERDIZE it 345,170 A
BEEDBEE i 510,170 M (EH=%E 5500 A/H)

TrA=—T14tv<B>

ERE 260,000 M
BE 1,530 F/B x30= 45,900 M
TA=T 4tk 990 M/B x30= 29,700 H
AN 2NBERDIEE &t 335,600 A
BE0EA it 500,600 A (=#%£%E 5500 F/A)

TrA=—T14t9b<C>

ERE 260,000 M
BE 1,530 A /B x30= 45,900 A
TA=T4tyh 627 M /A x30= 18,810 H
AN 2NBERDIHE &t 324,710 A
BE0BA t 489,710 (== 5500 F/A)

X BES EHZREFNH LGS, MR, HREFESRELETS.

SHM7EAR1BER



m7ERk 30BHEMER

~EEBHUNEYT—a mE (BHA) ~

<esmkim 3ETHE>
FREEE [(]

TrA=—T4EIYF<A>

ERE 180,000 H
BE x30= 45,900 M
TAZT1Yk x30= 39,270 A
AN 2NBEDHE &t 265,170 H
BEEDEHE &t 430,170 A
FA=F 4 yh<B>
ERE 180,000 H
BE x30= 45,900 M
TAZT1Yk x30= 29,700 A
AN 2NBEDHE &t 255,600 A
E=DZE &t 420,600 A
FA=F4yh<c>
ERE 180,000 H
BE 1,530 A /B x30= 45,900 A
TAZT1uk 627 M /A x30= 18,810 A

AN 2ANBBEDISE

BEDIHE

X HES.EHBREFN G,

it 244,710 A
&t 409,710 A

(EERIZEEE 5500 A/8)

(EERIZEEE 5500 A/8)

(EERIZEEE 5500 A/8)

me . AR, EREESRELFET,

SHM7EAR1BER



m7ERk 30BHEMER

~EEBHUNEYT—a mE (BHA) ~

<eSERAE 3WEE>
PREE#E [V]

TrA=—T4IYF<A>

ERE 95,000 H
BE x30= 45,900 M
TAZT1Yk x30= 39,270 A
SN2 ANEBEDEZE it 180,170 A
BEEDHA &t 345,170 A
FA=F 4 yh<B>
ERE 95,000 H
BE x30= 45,900 M
TA=T1EYk x30= 29,700 H
SN2 ANEBEDSZE it 170,600 A
BEEDHE &t 335,600 A
FA=F4yk<c>
ERE 95,000 H
BE 1,530 A /B x30= 45,900 H
F AT 4wk 627 A /A x30= 18,810 A

AN 2ANBBEDISE

BEDIHE

X HES.EHBREFN G,

at 159,710 M
&t 324,710 A

(EERZEEE 5500 A/8)

(EERIZEEE 5500 A/8)

(EERIZEEE 5500 A/8)

me . AR, EREESRELFET,

SHM7EAR1BER



m7ERk 30BHEMER

~EEBHUNEYT—a mE (BHA) ~

<eSERAE 3WEE>
BREE#E [T

TrA=—T4IYF<A>

ERE 57,600 A
BE x30= 45,900 M
TA=T 1ty x30= 39,270 H
AN 2NEREBDHE &t 142,770 A
BEEDEHE &t 307,770 H
FA=F 4 yh<B>
ERE 57,600 A
BE x30= 45,900 M
TAZT1Yk x30= 29,700 A
AN 2NEREBDHE &t 133,200 A
BEEDEHE &t 298,200 M
FA=F4yk<c>
ERE 57,600 A
BE 1,530 A /B x30= 45,900 H
TA=T 1ty 627 A /B x30= 18,810 A

AN 2ANBBEDISE

BEDIHE

X HES.EHBREFN G,

it 122,310 M
&t 287,310 A

(EERZEEE 5500 A/8)

(EERIZEEE 5500 A/8)

(EERIZEEE 5500 A/8)

me . AR, EREESRELFET,

SHM7EAR1BER



m7ERk 30BHEMER

~EBIEHVNEYT—avFmR (i) ~
<eSERE EEE>
BRE#E (7]

TrA=—T4IYF<A>

ERE 35,400 A
= 720 F/B x30= 21,600 A
TAZT1Yk 1,309 M/B x30= 39,270 A
AN2ANEREDIZE &t 96,270 H
BEEDiHE &t 261,270 A
TrA=-T14tyb<B>
ERE 35,400 A
= 720 F/B x30= 21,600 A
FAZTF 1Yk 990 F/B x30-= 29,700 A
AN2ANEEDISZE &t 86,700 A
BEZEDIGE &t 251,700 A
TrA-T1tyk<Cc>
ERE 35,400 A
= 720 F/B x30= 21,600 A
TAZT1Yk 627 M /A x30= 18,810 A
AN2ANEREDIZE &t 75,810 H
BEDEZE &t 240,810 A

X HES.EHBREFN G,

(EERZEEE 5500 A/8)

(EERIZEEE 5500 A/8)

(EERIZEEE 5500 A/8)

me . AR, EREESRELFET,

SHM7EAR1BER



